



(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

Half Range series :-

Cosine series:

The hay-range cirche series of from defined in the interval orn in is given by

f(n)= ao + & an cos nn.

where  $a_0 = \frac{2}{\pi} \int_0^{\pi} f(n) dn$  and  $a_n = \frac{2}{\pi} \int_0^{\pi} g(n) cusn n dn$ .

Find the Half earge series for 3(n)= \( \frac{11}{4}, \ 0<n<178
\)
\( \frac{11}{4}(n-n), \frac{17}{172}<n<11
\)

i) Hay-lange anne series.

Now 
$$a_0 = \frac{2}{\pi} \int_{-\pi}^{\pi} \eta (n) dn$$

$$= \frac{2}{\pi} \left[ \int_{0}^{\pi} \frac{1}{4} (n) dn + \int_{-\pi}^{\pi} \frac{1}{4} (n-n) dn \right]$$

$$= \frac{2}{\pi} \left[ \frac{\pi}{4} \left[ \frac{n^2}{2} \right]^{\frac{n}{2}} + \frac{\pi}{4} \left[ \pi n - \frac{n^2}{2} \right]^{\frac{n}{2}} \right]$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

$$= \frac{3}{\pi} \left[ \frac{\pi}{4}, \frac{\pi^{2}}{8} + \frac{\pi}{4} \left( \left( \pi^{2} - \frac{\pi^{2}}{2} \right) - \left( \frac{\pi^{2}}{2} - \frac{\pi^{2}}{8} \right) \right) \right]$$

$$= \frac{3}{\pi} \left[ \frac{\pi^{3}}{32} + \frac{\pi^{3}}{8} - \frac{3\pi^{3}}{32} \right]$$

$$= \frac{3}{\pi} \left[ \frac{\pi^{3}}{4} - \frac{3\pi^{3}}{4} - \frac{\pi^{3}}{4} - \frac{\pi^{3}}{4$$





(An Autonomous Institution) Coimbatore - 35

#### **DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES**

### HALF RANGE SERIES:

COSINE SERIES:

The half large cisine series in the interval (0,l) is equien by  $f(m) = \frac{a_0}{x} + \sum_{n=1}^{\infty} a_n \frac{u_n \pi}{n} n$ . Where ao = 2 strondn ; an = 2 strond cusnin dn.

Obtain the fourier series for bon) = {kn , 0 ≤ n ≤ l/2 (k(l-n), l/2 ≤ n ≤ l. Soln: Let f (m) = ao + E an wint n.

Now 
$$a_0 = \frac{2}{2} \int_0^1 f(n) dn$$
.  
=  $\frac{2}{2} \left\{ \int_0^1 kn dn + \int_0^1 k(l-n) dn \right\}$   
=  $\frac{2k}{l} \left\{ \left[ \frac{n^2}{2} \right]^{l/2} + \left[ ln - \frac{n^2}{2} \right]_0^{l} \right\}$ 

$$= \frac{2k}{l} \left\{ \frac{l^2}{8} + \left[ \frac{l^2}{2} - \left( \frac{l^2}{8} - \frac{l^2}{8} \right) \right] \right\}$$

$$= \frac{2k}{l} \left\{ \frac{l^2}{8} + \left[ \frac{l^2}{2} - \left( \frac{l^2}{8} - \frac{l^2}{8} \right) \right] \right\}$$

$$= \frac{kl}{2}$$





(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

an = 
$$\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$$

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{\ln x} \cos \frac{\pi x}{x} dx$ 

=  $\frac{2}{\lambda} \int_{0}^{1} \frac{1}{$